)\

DB-Killer N°32B
C0d.307919801

@ 92R - 01 10382

Aluminium spacer
SBK SBK @27X8.5
Cod.204321

Knurled collar nut M8
Co0d.200298

Carbon Bracket FM5SF|
Co0d.3014149501

Aluminium Spacer
M Cod.206322

N
\ = Knurled collar nut M5
e Cod.204407
] N \\\ Q
. 57
\ \\\) ) /
6’00

Bushing LGR/F
Ji.38 - Je.45 - h30
Co0d.204999

.B.E.l screw
M5x12 Cod.201031

LVONE EVO INO
Silencer @i 50
Cod.3014152481

Short helical spring
Allen screw tensile
M8X55 T.C.E.I. Z.B. Cod.204387 Pipe N° 1092
Cod.200331 Co0d.3014031203
Short tube in
silicon rubber Strap in stainless
Cod.204412 steel J49
Cod.300049530
Art. 14152E

SUZUKI SV 650
Slip-on - LV ONE EVO Stainless Steel - APPROVED



	Model
	Vista del disegno13
	Vista del disegno15


